
Page

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

Assembly of 4-point belt

List of parts that should be in the set.

1/8

Read the instructions carefully before starting assembly. 

Qty. 1.	 Belt
Qty. 2 	 Three slide
Qty. 2 	 Bracket, Fix-lock
Qty. 4 	 Screw, M5x16 K6S
Qty. 8 	 Washer 5,3x10x1
Qty. 4 	 Locking nut, M5
Qty. 2 	 Belt tongues

Qty. 2 	 Screw M8x20 K6S
Qty. 2 	 Washer, BRB 8,4x16x1,6
Qty. 2 	 Spacer
Qty. 2 	 Screw M6x16
Qty. 4 	 Washer 6,4x18x1,6
Qty. 2  	Locking nut M6

Mounting on PS Junior
1.	 Mount the two Fix Lock Brackets on the upper edge on the back of the back rest plate, use the two 

accompanying screws (M5x12), washers and nuts, Mount the brackets in the lower hole pattern. See 
fig. below to the left.

2.	 Mount the upper part of the belt in the Fix Lock brackets. See fig. below to the right.
3.	 Adjust the length of the belt.

Mount the two Fix Lock Brackets on the  
upper edge on the back of the back rest plate.

Mount the upper part of the belt  
in the Fix Lock brackets.

gggg gg

ggggggg

gggggggggg ggggggg ggg

236439 B

SERIES

TSN2008-12-19 5/15/2012 GHT



Page

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

2/8

The belt tongues are mounted with a three-slide. 
Ensure that the shorter part of the belt is  

lowest so that it is clamped in place.

4.	 Mount the belt tongues on the lower parts of 
the belt using the three-slide.

The back rest is mounted with three screws and 
nuts on the left and right side of the seat.

5.	 Loosen the three nuts, on the left and right 
hand of the seat, holding the back rest. See fig.

6.	 Remove the plastic plugs on the rear end of the 
accessory rail, then remove the back rest by  
pulling it out of the rail.

7.	 Mount one of the accompanying screws 
(M6x16) in the upper grove of the rail on each 
side of the seat. Remount the back rest.

8.	 Mount the belt on the screw earlier mounted in 
the rail. Use accompanying washers and nuts. 
See fig. below.

The belt is mounted on the accessory rail.

Ensure that you mount the belt brackets in the right 
direction so that they can rotate freely.

m     CAUTION

gggg gg

ggggggg

gggggggggg ggggggg ggg

236439 B

SERIES

TSN2008-12-19 5/15/2012 GHT



Page

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

3/8

Mounting on MiniFlex
1.	 Mount the two Fix Lock Brackets on the upper 

edge on the back of the back rest plate, use the 
two accompanying screws (M5x12), washers 
and nuts, See fig.

Mount the two Fix Lock Brackets on the  
upper edge on the back of the back rest plate.

Mount the upper part of the belt  
in the Fix Lock brackets.

The belt tongues are mounted with a three-slide. 
Ensure that the shorter part of the belt is  

lowest so that it is clamped in place.

4.	 Mount the belt tongues on the two lower parts 
of the belt. Secure the belt tongues with the 
three slides. See fig. 

2.	 Mount the upper part of the belt in the Fix Lock 
brackets. See fig.

3.	 Adjust the length of the belt.

gggg gg

ggggggg

gggggggggg ggggggg ggg

236439 B

SERIES

TSN2008-12-19 5/15/2012 GHT



Page

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

4/8

The belt is mounted on the seat.

5.	 Mount te belt with belt tongues on the seat using the accompanying screw (M8x16), washers and 
spacers. See fig.

The belt is mounted with accompanying  
screws, washers and spacers.

Ensure that you mount the belt brackets in the right direction so that they can rotate freely.

m     CAUTION

gggg gg

ggggggg

gggggggggg ggggggg ggg

236439 B

SERIES

TSN2008-12-19 5/15/2012 GHT



Page

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

5/8

Montering på PS Junior
1.	 Skruva fast de två fixlockfästena i överkant på ryggplåtens baksida med de medföljande skruvarna 

(M5x12), brickorna och muttrarna, använd den nedre hålbilden, se bild nedan till vänster.
2.	 Trä in överdelen av bältet i fixlockfästena och spänn fast dem, se bild nedan till höger.
3.	 Justera in bältet till lämlig längd.

Montering av fixlockfästena på PS Junior. Montering av bältet i fixlockfästena.

Montering av 4-punktsbälte

Förteckning över de detaljer som skall finnas i satsen

Läs noga igenom anvisningen innan montering påbörjas

1 st	 Bälte
2 st	 Remlås
2 st	 Fäste, Fix-lock
4 st	 Skruv, M5x16 K6S
8 st	 Bricka 5,3x10x1
4 st	 Låsmutter, M5
2 st	 Bältesfäste

2 st	 Skruv M8x20 K6S
2 st	 Bricka, BRB 8,4x16x1,6
2 st	 Distans
2 st	 Skruv M6x16
4 st	 Bricka 6,4x18x1,6
2 st 	 Mutter M6

gggg gg

ggggggg

gggggggggg ggggggg ggg

236439 B

SERIES

TSN2008-12-19 5/15/2012 GHT



Page

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

6/8

Bältesfästena monteras med remlås. Var noga 
med att den kortare delen av bältet hamnar 

underst så den kläms fast.

4.	 Montera bältesfästena på de nedre delarna av 
bältet och spänn fast med hjälp av remlåsen, 
se bild till höger.

Ryggstödet sitter monterat med  
tre skruvar på vardera sida.

5.	 Lossa de tre skruvarna som håller ryggstödet, 
se bild. 

6.	 Demontera den plastplug som täcker skenans 
ände, demontera sedan ryggstödet genom att 
dra detta rakt bakåt ur skenan.

7.	 Montera en av de medföljande skruvarna 
(M6x16) i skenans övre spår på sitsens vardera 
sida. Återmontera ryggstödet.

8.	 Montera sedan bältet på de i skenan monte-
rade skruvarma. Använd de medföljande brick-
orna och distanserna för att skruva fast bäl-
testungorna i tillbehörsskenan, se bild nedan.

Bältet monteras i tillbehörsskenan.

Var noga med att montera bältesfästena åt rätt 
håll, vinklade utåt, så att de kan rotera fritt.

m     OBSERVERA

gggg gg

ggggggg

gggggggggg ggggggg ggg

236439 B

SERIES

TSN2008-12-19 5/15/2012 GHT



Page

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

7/8

Montering på MiniFlex
1.	 Skruva fast de två fixlockfästena i överkant 

på ryggplåtens baksida med de medföljande 
skruvarna (M5x12), brickorna och muttrarna, 
se bild.

Montering av fixlockfästena på MiniFlex.

Montering av bältet i fixlockfästena.

Bältesfästena monteras med remlås. Var noga 
med att den kortare delen av bältet hamnar 

underst så den kläms fast.

4.	 Montera bältesfästena på de nedre delarna av 
bältet och spänn fast med hjälp av remlåsen, 
se bild.

2.	 Trä in överdelen av bältet i fixlockfästena och 
spänn fast dem, se bild.

3.	 Justera in bältet till lämlig längd.

gggg gg

ggggggg

gggggggggg ggggggg ggg

236439 B

SERIES

TSN2008-12-19 5/15/2012 GHT



Page

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

8/8

Bältet monteras på sitsen.

5.	 Använd de medföljande skruvarna (M8x16), brickorna och distanserna, för att skruva fast bältet med 
bältestungorna i sitsen, se bild.

Bältet monteras med medföljande  
skruv, bricka och distans.

Var noga med att montera bältesfästena åt rätt håll, vinklade utåt, så att de kan rotera fritt.

m     OBSERVERA

gggg gg

ggggggg

gggggggggg ggggggg ggg

236439 B

SERIES

TSN2008-12-19 5/15/2012 GHT


